

Solve:

Q. $\frac{x+2}{6} - \left(\frac{11-x}{3} - \frac{1}{4} \right) = \frac{3x-4}{12}$

Sol $\frac{x+2}{6} - \left(\frac{11-x}{3} - \frac{1}{4} \right) = \frac{3x-4}{12}$

$\therefore \frac{2}{12} \left(\frac{x+2}{1} \right) - 12 \left(\frac{11-x}{3} - \frac{1}{4} \right) = 12 \left(\frac{3x-4}{12} \right)$

$\therefore 2(x+2) - 12 \left(\frac{11-x}{3} \right) + 12 \times \frac{1}{4} = (3x-4)$

$\therefore 2(x+2) - 4(11-x) + 3 = 3x-4$

$\therefore 2x + 4 - 44 + 4x + 3 = 3x - 4$

$\therefore 6x - 37 = 3x - 4$

$\therefore 6x - 3x = -4 + 37$

$\therefore 3x = 33$

$\therefore x = \frac{33}{3}$

$\therefore \boxed{x = 11}$

$(a+b)^2 = a^2 + 2ab + b^2$
 $(a-b)^2 = a^2 - 2ab + b^2$ } Identity

$(2x+5)^2$

$\downarrow \quad \downarrow$
 $(a+b)^2 \Rightarrow a^2 + 2ab + b^2$

$a = 2x \quad = (2x)^2 + 2(2x)(5) + 5^2$

$b = 5 \quad = 4x^2 + 20x + 25$

$(2x+5)^2 \Rightarrow (2x+5)(2x+5)$
 $2x(2x+5) + 5(2x+5)$
 $4x^2 + 10x + 10x + 25$
 $4x^2 + 20x + 25 = 15$

Solve:

Q. $(2x+3)^2 + (2x-3)^2 = (8x+6)(x-1) + 22$

Sol

$(2x+3)^2 + (2x-3)^2 = (8x+6)(x-1) + 22$

$\therefore (2x)^2 + 2(2x)(3) + 3^2 + (2x)^2 - 2(2x)(3) + 3^2 = 8x(x-1) + 6(x-1) + 22$

$\therefore 4x^2 + 12x + 9 + 4x^2 - 12x + 9 = 8x^2 - 8x + 6x - 6 + 22$

$\therefore 8x^2 + 18 = 8x^2 - 2x + 16$

$\therefore 8x^2 - 8x^2 + 2x = 16 - 18$

$\therefore 2x = -2$

$\therefore x = \frac{-2}{2}$

$\therefore \boxed{x = -1}$

Q. 1 Solve the following linear equations :

1. $\frac{x}{2} - \frac{1}{5} = \frac{x}{3} + \frac{1}{4}$

Sol $\frac{x}{2} - \frac{1}{5} = \frac{x}{3} + \frac{1}{4}$

$$\therefore \frac{x}{2} - \frac{x}{3} = \frac{1}{4} + \frac{1}{5}$$

$$\therefore \frac{x \times 3}{2 \times 3} - \frac{x \times 2}{3 \times 2} = \frac{1 \times 5}{4 \times 5} + \frac{1 \times 4}{5 \times 4}$$

$$\therefore \frac{3x}{6} - \frac{2x}{6} = \frac{5}{20} + \frac{4}{20}$$

$$\therefore \frac{1x}{6} = \frac{9}{20}$$

$$\therefore x = \frac{9}{20} \times 6^3$$

$$\therefore x = \frac{27}{10}$$

The solution of the equation is $\frac{27}{10}$



Q. 1 Solve the following linear equations :

2. $\frac{n}{2} - \frac{3n}{4} + \frac{5n}{6} = 21$

Sol $\frac{n}{2} - \frac{3n}{4} + \frac{5n}{6} = 21$

$$\therefore \frac{n \times 6}{2 \times 6} - \frac{3n \times 3}{4 \times 3} + \frac{5n \times 2}{6 \times 2} = 21$$

$$\therefore \frac{6n}{12} - \frac{9n}{12} + \frac{10n}{12} = 21$$

$$\therefore \frac{-3n}{12} + \frac{10n}{12} = 21$$

$$\therefore \frac{7n}{12} = 21$$

$$\therefore 7n = 21 \times 12$$

$$\therefore n = \frac{21 \times 12}{7}$$

$$\therefore n = 3 \times 12$$

$$\therefore n = 36$$

Q. 1 Solve the following linear equations :

3. $x + 7 - \frac{8x}{3} = \frac{17}{6} - \frac{5x}{2}$

Sol $x + 7 - \frac{8x}{3} = \frac{17}{6} - \frac{5x}{2}$

$$\therefore x - \frac{8x}{3} + \frac{5x}{2} = \frac{17}{6} - 7$$

$$\therefore \frac{x}{1} - \frac{8x}{3} + \frac{5x}{2} = \frac{17}{6} - \frac{7}{1}$$

$$\therefore \frac{x \times 6}{1 \times 6} - \frac{8x \times 2}{3 \times 2} + \frac{5x \times 3}{2 \times 3} = \frac{17}{6} - \frac{7 \times 6}{1 \times 6}$$

$$\therefore \frac{6x}{6} - \frac{16x}{6} + \frac{15x}{6} = \frac{17}{6} - \frac{42}{6}$$

$$\therefore \frac{5x}{6} = \frac{-25}{6}$$

$$\therefore 5x = \frac{-25}{6} \times 6^1$$

$$\therefore 5x = -25$$

$$\therefore x = \frac{-25}{5}^1$$

$$\therefore x = -5$$

The solution of the equation is -5.



Handwritten solution for Q. 1, 2:

$$7n = 252$$

$$\therefore n = 36$$

$$x + 7 - \frac{8x}{3} = \frac{17}{6} - \frac{5x}{2}$$

$$\frac{3(x+7) - 8x}{3} = \frac{17-15x}{6}$$

$$\frac{3x+21-8x}{3} = \frac{17-15x}{6}$$

Handwritten solution for Q. 1, 3:

$$\frac{-8x+3x+21}{3} = \frac{17-15x}{6}$$

$$\frac{-5x+21}{3} = \frac{17-15x}{6}$$

$$-5x+21 = \frac{17-15x}{2}$$

$$-10x+42 = 17-15x$$

$$5x = -25$$

$$x = -5$$

$$\frac{30+21}{3} - \frac{8x}{3} = \frac{17-15x}{6}$$

$$\frac{-8x+30+21}{3} = \frac{17-15x}{6}$$

$$\frac{10x}{2} = \frac{-4}{10}$$

$$x = \frac{-4 \times 1}{10}$$

$$x = \frac{-2}{5}$$

$$x = -\frac{1}{5} \text{ or } -0.2$$

21x $\left(\frac{2}{3}\right)$

Q. 1 Solve the following linear equations :

4. $\frac{x-5}{3} = \frac{x-3}{5}$

Sol

$$\frac{x-5}{3} = \frac{x-3}{5}$$

$$\therefore 5(x-5) = 3(x-3)$$

$$\therefore 5x - 25 = 3x - 9$$

$$\therefore 5x = 3x - 9 + 25$$

$$\therefore 5x = 3x + 16$$

$$\therefore 5x - 3x = 16$$

$$\therefore 2x = 16$$

$$\therefore x = \frac{16}{2}$$

$$\therefore x = 8$$

$\therefore$ The solution of the equation is 8

HW 19/5/22

Q. 1 Solve the following linear equations :

5. $\frac{3t-2}{4} - \frac{2t+3}{3} = \frac{2}{3} - t$

Q. 1 Solve the following linear equations :

6. $m - \frac{m-1}{2} = 1 - \frac{m-2}{3}$